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PART - 1:

A car accelerates from rest at a constant rate o for
some time, after which it decelerates at a constant
rate 3 and comes to rest. If the total time elapsed is
t, then the maximum velocity acquired by the car
is

o2 +B2 (12—[32
o) el
oft
@ [a—w]

The velocity of a projectile at the initial point A is
(2? + 3])m /s . Tts velocity (in m/s) at point B is

3) (a+P)t
o

117

A B>
y \X

(1) —2i -3] (3) —2i +3]
(3) 2i-3] (4) 2i+3]
An object flying in air with velocity

(20i +25j—12K) suddenly breaks in two pieces
whose masses are in the ratio 1: 5. The smaller mass
flies off with a velocity (100i +35]j+8K).The
velocity of the larger piece will be

(1) 4i+23j-16k  (2) —100i —35j—8k
(3) 20i +15]—80k  (4) —20i —15j—80Kk

A particle is projected making an angle of 45° with
horizontal having kinetic energy K. The kinetic
energy at highest point will be

K K
(1 NG (2) E)
(3) 2K @)K

PHYSICS

1.

Uh HR [REERT ¥ §8 999 & oy MiRed
RO o ¥ @RA B B | e uvErd 98 §@o
T 3 oy AfEa ded p 9 HAfRd e
foRMTaRe 4 el B | Ife He T gom AW tE,

I BR gRT AfTT 3ifrhdy a7 =7 87
0L2+B2 az_Bz

o5 o)
(a+P)t ot

(3) Tap 4) (owﬁj

URfe fig AR 8™ &1 9T (2i+3))m/s B
fig B W gdar a7 (HIiex /Adhs H) R 3—

'&r
B .
A \‘ X
(1) —2i-3j (3) —2i+3j
(3) 2i—3j (4) 2i+3]

&A1 H I (20i +25]-12k) & Sl I D
Sl gl § T S & 1o s@ e 1: 5 U
# 2| BT ¥ Uh 977 (100i +35]+8K) P wrer
ISl & 98 Chs Bl I FIT BIIT?

(1) 4i+23j-16k

(2) —100i —35j -8k
(3) 20i +15j—80k (4) —20i —15j—80K
U BT DI TSl Holl K & A1y afast | 45° &7

DI I gY VI fhar SIam | SeaaH fdg W
TS SHoft FT BRf?

(1) % @

(3) 2K @)K
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A car starts from rest and accelerates at 5 m/s?. At t
=4 s, ball is dropped out of a window by a person
sitting in the car. What is the velocity and
acceleration of the ball at t = 6 s ? (Take g = 10 m/s?)

(1) 20J2m/s,10m/s? (2) 20 m/s, 5 m/s?
4) 20J2m/s,0

Three particles, each of mass m grams situated at
the vertices of an equilateral AABC of side ] cm (as
shown in the figure). The moment of inertia of the
system about a line AX perpendicular to AB and in
the plane of ABC in g —cm? units will be

(3) 20 m/s, 0

jing m

(1) Gjml2 (2) 2ml?

3) Gjml2 4) (gjmlz

For a plane electromagnetic wave propagating in x
-direction, which one of the following combination
gives the correct possible directions for electric
field (E) and magnetic field (B) respectively?

(1) j+k j+k Q) —j+k,—j—k

(3) j+k—j+k @) —jrk-j+k

The angle of incidence for a ray light at a refracting
surface of a prism is 45°. The angle of prism is 60°.
If the ray suffers minimum deviation through the
prism, the angle of minimum deviation and
refractive index of the material of the prism
respectively, are

(1) 30":4/2 (2) 45%2
o1 1
30— —
3) 5 (4) 45 5

Th HR fRMEERRT ¥ T IS Bl 2 3R 5
m/s? BT T F @RI BT 8 1t=4s T R H 3
fad g1 Ragant | g &1 qrex FARMT Srar 2
t=6s TR I BT T qAT @ROT T &7 (A AIfoTg
g =10 m/s?)

(1) 20J2m/s,10m/s? (2) 20 m/s, 5 m/s

(3) 20 m/s, 0 (4) 20\/2m/s,0

A9 BT, UR—AD FIHE m U U FHAIE b Y
wR RIT § Yol 1 cm &1 AABC (O & = &
fe@mar 37 &) | AB @ @igdq U Y@ AX & IR
T &1 STecd 3Tgel gl ABC & dd # g—em’

PIECATSTIS

1

MW

(1) ( ]mlz (2) 2ml?

5) 3\,
3) (ijl 4) (Ejml

x-faen # FaRd g drell gHad faga gy
T & fory, FfaRad § 9 SI—a1 FAIS o
fA=gd &7 (E) 3R gaaig &3 (B) & forg wdl wwg
feelg <ar 87

(D) ]+l2,]+|2

@ —jrk—j=k
3) ]+IA<,—]+IA< 4 —]+R,—]+R
fUSH & I I3 UR {07 UehTer T JATIAT BHioT
45° 8| 58 @1 HIvT 60° £ | I fpeor w1

=ATH fdererd BRal 2, A1 U9 & garel b1 =faH
faaet BIUT SR SUacid HHIT: M-

(1) 3032 (2) 45°2
.1 1
30— 45°: —
D05 RN
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10.

11.

12.

13.

Which of the following is not due to total internal

reflection?

(1) Difference between apparent and real depth of a
plond

(2) Mirage on hot summer days

(3) Brilliance of diamond

(4) Working of optical fibre

In Young's double slit experiment, the slits are 2
mm apart and are illuminated by photons of two
wavelength A; = 12000 A and 1, = 10000 A. At
what minimum distance from the common central
bright fringe on the screen 2 m from the slit will a
bright fringe from one interference pattern coincide
with a bright fringe from the other

(1) 8 mm
(3) 4 mm

(2) 6 mm
(4) 3 mm

Light of frequency 2.5 times the threshold
frequency is incident on a photosensitive material.
What will be the photoelectric current if the
frequency is halved and intensity is doubled?

(1) Four times
(2) One-fourth
(3) zero

(4) Doubled

The number of photons per second on average
emitted by the source of monochromatic light of
wavelength 600 nm , when it delivers the power of
3.3 x 107 W will be (h= 6.6 x 107 J-s)

(1) 1018 (2) 10"7
(3) 10'¢ (4) 103

An electron. is accelerated from rest through a
potential difference of V wvolt. If the de-broglie
wavelength of the electron is 1.227 x 1072 nm, the
potential difference is

(1) 10>V 2) 103V
(3) 104V 4)10V

10.

11.

12.

13.

frfalRad & | ®F a1 gl sfaRe wRiadd @&

PR B T

(1) TP dreld P MR IR IR<fdd TexTs &
3R

Q) T & A H 7 R

(3) ER @I TP

(4) 3fiftedhel BISaR BT HI fafe

T & S91 Refe vanT |, Reaed & 99 @
2mm e g 3R & qReed & BIe gRI USRI
B0 & A= 12000 A 3R 1, = 10000 A & | ®hIF W
RIS DHarg ara bl ¥ fha-l FgAaq g3 W
o ¥ 2m P T R W I8 W U I Bl
I e X dTeed | el & |1 Ha
QYT

(1) 8 mm (2) 6 mm

(3) 4 mm (4) 3 mm

S8l SMIRT BT 2.5 AT IMIRT B AT ThTeT
Heal uarel uR Ufcrd 81 & Afe gy @l e
X T MY AT el GRAT Hx &1 STY < geprer
e a1 T Bnfi-

(1) R dR
(2) U Arrmd

(3) L3

(4 T

aresd 600 nm & YHI TR & WId gRT

SAfoid Ufd Wb BICH! I A=l ofd I8 3.3 %
103 W &1 2fdd Ue &Rl & (h= 6.6 x 1034 J-s)

(1) 1018 (2) 10"7
(3) 1016 (4) 105

Udh Solderd &l fORMERT | V dlee & favaias
P HRIH § aRd fhar SIar B | afe seldg = @
S—drell aTeed 1.227 x 102 nm &, |IfAq
fawarR 28—
(1) 10°V

(3) 10*V

2) 103V
4) 10V
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14.

15.

16.

17.

The minimum wavelength of X -rays produced by
an electron accelerated through a potential
difference of V volts is proportional to

1 1
Ok ) N
3)V? ) VvV

The binding energy per nucleon is maximum in
case of

(1) 2 2) 267"

U235

(3) 56Ba141

The given circuit has two ideal diodes connected as
shown in the figure below. The current flowing
through the resistance R; will be

20
D, 2
0V
R, Q30 B2 20

4) 92

3

(1)25A
(3) 143 A

(2) 10.0 A
(4)3.13A

An electron of a stationary hydrogen atom passes
from the fifth energy level to the ground level. The
velocity that the atom acquired as a result of photon
emission will be (mass of atom is m)

24hR 25hR
1) —— 2) ——
M 25m @) 24m
25m 24m
3) —— 4) ——
3) 24hR ©) 25hR

14.

15.

16.

17.

Vdiee & [QUaiar & ded9 9 dRd soideld gl

IAMET X-fBRoll & FgAdH R [has
FATIUT BT 3—
1 1

1) = 2) —

Ok 2) N

3)V? @ WV

gfd YfFedE deaRl ol [hae A |
31fereHad Bl B—

(1) 2 (2) 267

(3) 56" (4) 92U

&g v gRyer # <7 omeel SRS IS gY € o
fo o feu v o & fearar ar 21 ufeRier Ry
@ qiegg I 989 dlell ORT T enfl—

20
I ' QZ
D, D,
10V
R 230 R, Q20

3

(1)2.5A () 10.0 A
(3) 143 A 4)3.13A
U ReR BISgIo URAIY] &I Udh goldei died
ol WR O freEad ol @R A ardr 21 BieH

o & URUIFRE™Y URAN] §RT 9T 9 &1
BT (URATY] T G913 2)

24hR 25hR
1) —— Py ==
- 25m @ 24m
25m 24m
3) —— 4) ——
) 24hR @) 25hR
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18. The correct Boolean operation represented by the
circuit diagram drawn is

o0

(1) OR
(3) NOR

19. A sonometer wire resonates with a given tuning
fork forming standing waves with five antinodes
between the two bridges when a mass of 9 kg is
suspended from the wire. When this mass is
replaced by a mass M, the wire resonates with the
same tuning fork forming three antinodes for the
same positions of the bridges. The value of M is

(2) NAND
(4) AND

(1)25 kg (2) 125 kg
(3) 12.5kg @) 1.25kg

20. A uniform rod of length 200 cm and mass 500 g is
balanced on a wedge placed at 40 cm mark. A mass
of 2 kg is suspended from the rod at 20 cm and
another unknown mass m is suspended from the rod
at 160 cm mark as shown in the figure. Find the
value of m such that the rod is in equilibrium. (g =

10 m/s?)
0 20em 40 cm 160 cm
| !
AN
2 kg m
1 1
1) =k 2) =k
(1) 5K (2) 39
1 1
3) =k 4) —k
(3) 5 kd ( )12 g

18.

19.

20.

i Y gRUY NG gRT Fefud w8l gfora
s 2—

o
Loy @

o0

[
.

B 1 L
(1) OR (2) NAND
(3) NOR (4) AND

UH AAMel R Teh Ry U wWRd & AT
3rgIfRd B 8, S &1 gell & 919 Ui ydHred
P 1Y JAYATH TR BT 40T HRaT & o aR A
9 fhell BT g fAeifad BT 8 | 919 39 g
BT GgAE M gRT ufaRenfia fear Srem &, df ar
A R & MeF AR 8Iar 8, S gali &
T Ul & forv o9 VS g9 & | M &1 A3
T B—

(1)25 kg (2) 125 kg
(3) 12.5kg (4) 125 kg

200 cm @18 31X 500 g TIHE © Udh AN BS
Bl 40 cm o8 R W TP geeRk WR Aford fobar
ST & | 2 kg &7 U S99 B I 20 cm TR AcH]
fear SITaT 8 8iR Ud 39 IS SHH m Bl B9
A 160 cm fag WR oedr foar Srar & o & o
H fO@RT T | m BT A §9 UBR 1 DIfSTY
& o AwIaReT # 21 (g=10 m/s?)

0 20cm  40cm 160 cm
| |
AN
2 kg m
1 1
1) =k 2) =k
(D 5K (2) K9
1 1
3) =k 4) —k
(3) 5 ko 4) 519
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21.

22.

23.

The electric field part of an electromagnetic wave
in a medium is represented by Ex = 0;

E, = 2.5ﬂcosK2nx106 @)t —(nxlOz @jx}
C m s

E, = 0. The wave is

(1) moving along y-direction with frequency 2m X
10° Hz and wavelength 200 m

(2) moving along x-direction with frequency 10°
Hz and wavelength 100 m

(3) moving along x-direction with frequency 10°
Hz and wavelength 200 m

(4) moving along x-direction with frequency 10°
Hz and wavelength 200 m

For a Young's double slit experiment, two statement
are given below

Statement I : If screen is moved away from the
plane of slits, angular separation of the fringes
remains constant.

Statement II : If the monochromatic source is
replaced by another monochromatic source of
larger wavelength, the angular separation of fringes
decreases.

In the light of the above statements, choose the
correct answer from the options given below

(1) Both statement I and statement II are false
(2) statement I is true but statement II are false
(3) statement I is false but statement II are true
(4) Both statement [ and statement II are true

Two coherent sources of light interfere and produce
fringe pattern on a screen. For central maximum,
the phase difference between the two waves will be.

(1) Zero 2

3n e
(3) > 4) r

21.

22,

23.

fpedt wrem H faea gt o’ &l fagld & 9T
E. =0 gRT ST Sl &

E, = 2-5ECOSKZTE><106 @]t—[nxloz @jx}
C m 5

(1) AgRT 271 x 109Hz 3R TATQed 200 m & A1
y-faem & srgfar g

(2) JMIRT 10° Hz 3R aTeed 100 m & A1 x-fam
P 1T AT F@T

(3) JAMGRT 106 Hz 3R qTaed 200 m & A1 x-
AT T §¢ I&T ©

(4) JAMERT 10° Hz 3R a9Taed 200 m & A1 x-
1y 3T g1

4T & fgfda yam & forg, &1 dem A faw 1y
§

DU 1 : A W &1 BRI & T 9 ) o ST
Y a1 fhott &1 o gergavor g e 2

HIF 11 : IfT THavll AT T g8 }Teed & fba
=T THaolt AT gRT ufeRentua fhar Sar ®,
fohst @1 BRI geraemor &H 81 Sl © |

SWRITT HAT B 3fTelld H, [ R v faweai #
I el SR BT IIT PISTI—

(1) B [ 3R BT 11 I I &
() BUF 19 § I B 11 3RTeT &
(3) BUF 13 & olfchd B [ T &
(4) AT 13IR B 11 S T 8

BT & Gl Hol AHg Hld ATHRT BRI & 3R
U I UR ol Ues Bl Seres &ed 2 | Dl
Sfeas & fow, &1 T & §9 daraR BN—

(D=3 2)n

3n
(3) >

T
@ 3
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24,

25.

26.

27.

N molecules each of mass m of gas A and 2N
molecules each of mass 2 m of gas B are contained
in the same vessel at temperature T. The mean
square of the velocity of molecules of gas B is v2

and the mean square of x component of the velocity
2

. .WE
of molecules of gas A is w?. The ratio — 18

V
2 1
(3 @ 3
3 2
@) 3 & 7

An ideal fluid flows through a pipe of circular
cross-section made of two sections with diameters
2.5 cm and 3.75 cm. The ratio of the velocities in
the two sections is

(1)9: 4 2)3:2
(3)3:4 4)2:3

Capacitance of an isolated conducting sphere of
radius R; becomes n times, when it is enclosed by
a concentric conducting sphere of radius R»

! . .. R, .
connected to earth. The ratio of their radii —2 is
1

2n
M+ @ o
3) “—” @) ﬁ

When a resistance of 2 ohm is connected across the
terminals of a cell, the current is 0.5 amp. When the
resistance is increased to 5 ohm, the current is 0.25
amp. The emf of the cell is

(1) 1.0 volt (2) 2.0 volt
(3) 1.5 volt (4) 2.5 volt

24,

25.

26.

217.

M AD N UAP HT G m A I B
2N yRd BT GAE 2m UP & g+ H a9 T
wR RIT €| I B A & I BT A=A I v
2 R I AD AR & I $ x GCh BT A

i w2 g | U ‘:/"—22%‘—

2 1
(M 3 @ 3
3 2
3) > “4) 1

T T3 RS Uaref 2.5 cm 37R 3.75 cm T @l
3 Gl ¥ T JATHR TR BT & ISy I B
TEAT © | QAT IAGURT BIC H I BT U FT
.

(1)9: 4 @)3:2

(3)3: 4 (4)2: 3

g1 R & Qb Y =Tl Tlel @l SR n AT
ERIIS mwg&ﬁﬁq@%—mma%w
W%Wﬁﬁ@mwm%\flww ERRIE

Eb‘reﬂjtnﬁ 2 3

n 2n
(D17 @ o
1-n

mzﬁﬁwuﬁﬁﬂwwzﬁ cfiTell & S
BT &, dI 9RT 0.5 amp. Bl & | 519 TR & 5
M % el SIdl &, d &RT 0.25 amp 8T &
Hel &1 [Agfd ared g R o—
(1) 1.0 volt (2) 2.0 volt

(3) 1.5 volt (4) 2.5 volt

Space for rough work
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28.

29.

30.

The diagram shows stress versus strain curve for
the materials A and B. From the curves we can infer
that

Stress

Strain
(1) A is brittle but B is ductile
(2) A is ductile but B is brittle
(3) Both A and B are ductile
(4) Both A and B are brittle

For the balanced condition of the bridge the value
of the shunt resistance R must be:

+;I,'—
(1) 24 ohm (2) 18 ohm
(3) 16 ohm (4) 8 ohm

A hollow spherical shell of radius r has a uniform
charge density o. It is kept in a cube of edge 3r such
that the centre of the cube coincides with the centre
of the shell. Calculate the electric flux that comes
out of one face of the cube

2nrc nrlc
(1) 2)
€ 3e,
nr’c 2nrc
3) 4)
€ 3e,

28.

29,

30.

3T Y&l AR B & foy ufdael a=m fasfa @
fa@mar © | aspl | 8H AN o WHhd © fh—

Stress

Strain

(1) AR 2 oIfdT B T110 &
Q) ATTT § fPIBHR &
(3) AR B HI T91g &

(4) AR B THl WR B

9ol #1 Agferd Refa & forg wie ufcRig R &1 A9
BT BT

(1) 24 ohm
(3) 16 ohm

3Tt & TP WGl Tl BIeT H Th THE 3ATIeT
YT ¢ BT & | 39 3r fbaR drel 89 § 39 UbR
IGT ST & fb 89 &1 &g @ & dg & A1
HUTH Bl | 89 & U Head ¥ e arel fag@
ToAd Pl ITOTAT DIToTg—

(4) 8 ohm

2nr’c nr’c
(1) 2
€ e,
nr’c 2nrlc
3) 4)
€ 3e,

Space for rough work
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31.

32.

33.

34.

In the figure shown, q is in coulomb and t in second.
Attimet=1s

s —mr—g— F—o—WWW——o
q=2¢
(@) Va-Ve=4V  (b)Vo-Ve=1V

(c)Ve—-Va=16V
(1) only a is correct

(d) Va—V4=20V

(2) only b is correct

(3) a, b and ¢ are correct

(4) only d is correct

Read the following statements :

A) Insulators and semiconductors have the negative
temperature coefficient of resistance.

B) Kirchoff's I law and II law are the consequences
of Conservation of charge and energy.

C) Alloys usually have greater resistivity and lower
temperature coefficient of resistivity than their
constituent metals.

Select the correct statements from the following

(1) A & B alone are correct

(2) A, B & C all are correct

(3) A, B & C all are incorrect

(4) B alone is correct

A short-bar magnet placed with its axis at an angle
30° with an external field of experiences a torque
of 0.016 Nm. What is the work done in moving it
from its most stable to most unstable position?
(1)0.0161J (2)0.0321]

(3)0.064 1 (4)0.08J

An ideal gas undergoes isothermal process from
some initial state i to final state f.

Choose the correct alternatives.

a)dUu=0 b) dQ =0

c)dQ=dU d)dQ=dwW

(1) a & d alone are correct
(2) a, b, c & d all are correct
(3) b & c are correct

(4) b alone is correct

31.

32.

33.

34.

quig T o H q el H g SRt g eH W
T T Wt=1s

a iH b2F ¢ 40 d
o—mnr—g— F—o—WWW—
q=2¢
(@) Va-Vo=4V (b)) Vy-Ve=1V
(©)Ve—Va=16V  (d) Va—V4=20V
(1) Hact a &l ©
(2) BT b TET B
(3)a, b 3R cTE =
(4) DI d TET B
frforRaa sl &1 ufeu—
A) FATAS 3R ATATADT H YRR BT THRIHD
I T BT 2 |

B) fh=at @1 [ 99 3R 11 fa 3mmaer @ik Soff
D WReoT B URoMH € |

C) f51 oTgell H AR R I "TH gl Bl
g W UfREear &ife iR HH ATIEE
T[oTIe BId o |

ffeRad & | W8I doF =TT HIfvTu—

(1) dact A3NRBWE &

(2) A, B3R C o 921 &

(3) A, B 3R C 9+ Tt &

(4) a1 B W&l @

U BIC] B Jdd DI & 18T &3 I 30° D HoT

R G 7| e 9= &aF H 0.016 Nm &7 9

SITEOT ST4d BT & | S SH! 999 ReR & a9
3ReR Refd & of &I & &1 &l fhar e 8—

(1)0.016 J (2)0.032]

(3)0.064 J (4)0.08J

Udh ATeY I URMAe ofaRen i ¥ SifaH araRer f
qH FHAGR UfHar | ok 2 |

HEl By BT T BIfSTg—

a)dU=0 b)dQ =0

¢)dQ =dU d) dQ = dW

(1) daaT a 3R & I &
(2) a, b, c AR d T FL &
(3)b3iRc S &
(4) Had b B
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3s.

36.

37.

38.

A physical quantity obtained from the ratio of the
coefficient of thermal conductivity to the universal
gravitational constant has a dimensional formula

[MZL*T2K 9], then the value of a+b_ d is
c+b
3 1 3 1
D+ @ -2 3) -2 4) +=
(1) 5 () 5 3) 5 4) >

Consider the following statements and identify the
correct answer.

I) Surface tension of liquids generally decreases
with rise in temperature.

IT) Viscosity of gases generally decreases with rise
in temperature

IIT) Viscosity of liquids generally decreases with
rise in temperature.

(1) I & 11 are only true ~ (2) II & III are only true
(3) I & III are only true (4) All are true

The vernier scale of a vernier calipers has 20
divisions, and total length of the vernier scale is
equal to 18 divisions of the main scale. If one
division of the main scale is 1 mm, the least count
of the instrument is

(1) 0.5 mm (2) 0.1 mm
(3) 0.3 mm (4) 0.4 mm
Match List - [ with List - 11

List — I List - I

a) Isothermal 1) Pressure constant
b) Isochoric
¢) Adiabatic

d) Isobaric

i1) Temperature constant
iii) Volume constant

1v) Heat content is constant
Choose the correct answer from the options
(a-i,b-iii,c-ii,d-iv
(2)a-i,b-iil,c-iv,d -1
3)a-ii,b-iv,c-iii,d-i

(4)a-iii,b-ii,c-i,d —iv

3s.

36.

37.

38.

AU ATADHAT ONE AR AIITaD  [HTHY]
ReRi & 3rgurd | Ut 4ifde aRr &1 [ 93

[M2LT2KY] ¥, aF 71 a+b —d 8rr—
c+b

3 1 3 1

m+d o5 02 @

freferRad oMl R faar #IRT ik TE STR)
P UgE BIfoTu—

) wd &1 U8 q9/a GEgd: a9 H gig &
HTeT Tedl 7|

1) G & T AFAR W aoEH J ghg &
1l BH Bl ST 8 |

11T &di &1 TFar |rH=a: dgFE | i @ |
gl ol 8|

(1) e 13RI 9T & (2) Baet [ R 11 9 &
3) D IR M I & (4) ot g &

IR dfermd @ affeR What 3 20 fdoH B9 &,
3R AR Whdl @ Hal ddls I Fobd & 18

N O

fSdIol & aRMER BT & | e & U9 & Uh
TS 1 mm 8, AT SUSRVN BT 3feUaHid R o—
(1) 0.5 mm (2) 0.1 mm

(3) 0.3 mm (4) 0.4 mm

Al [ DT A1 — [ & AT GHferd de—

= -1 = - 10

a) qHAUT NCIERGES]

b) FHRIIA S i) TUEE R

c) SEIH iii) I e

d) S iv) ST B AT ReR 81t
fmedt § & TE SR BT TIT BIRTT—

(1)a-i,b-iii, c-ii, d - iv
(2) a-ii, b - iii, c - iv, d - i
(3)a-ii,b-iv, c - iii, d - i

4)a-iii,b-ii,c-i,d—1v
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39. Which of the following is incorrect regarding Biot-

Savart law and Coulomb's law.
(1) Principle of superposition applies to both.

(2) The electronic field is produced by a scalar
source and the magnetic field B is produced by
a vector source.

(3) Both are angle dependent.

(4) Both Biot-Savart law and Coulomb's law are
applicable for long range also

40. Three concentric metallic spherical shells of radii

R, 2R and 3R are given charges Qi, Q. and Qs,
respectively. It is found that the surface charge
densities on the outer surfaces of the shells are
equal. Then, the ratio of the charges given to the

shells, Q1 : Q2: Qs is
(1)1:2:3 2)1:3:5
3)1:4:9 (4)1:8:18

Consider P-V diagram for an ideal gas shown in

figure.
1
p< Constant
Vv
2

Out of the following diagrams, which represents

41.

the T-P diagram?
T 2
2
/ 1
T
) P (i1) ¢
T |
5 1 1 2
>
(i) )
(1 () (2) (i)
(3) (i) “ @)

39. FRc—dEC FHH R o & F9H & an H
forferRad # & @19 1 Tad 27

(1) SR ST RAgid M1 IR AR 8T © |

(2) saGIE &3 BT fawr Wi gRT (T g @
3R JE@g &3 B (& dacx Wid grT Hfid

BT 2|
(3) Tl PIoT fR R |
(4) I—rae W @R Hee &1 fm <E &
o g & forg o A B9 E |
40. 33 R, 2R @M 3R & 19 dAdfad grfcad Ml
PIEN BT HAI: Qy, Q, TAT Q3 MY faU 7Y €| Ig
T AT © B Wiel & qredl |asl R gy e
e aRT6R BIAT ®, T el BT T Y 3wt &t
U Q) :Q:: Qs 2—
(1)1:2:3 2)1:3:5
3)1:4:9 (4)1:8: 18
41. fo # <uiig € omeel W & foU P-V e W
fraR difsTo—
P

1
+ Constant
v
2

fAfeRac sl H W, I T-P 3R &l geriar
1

T T 2
2
/ 1
:
P
(1) -

(1)

: T
= > 1 2
P:‘
(i) @v)
(1) (iv) (2) (i)
(3) (i) (4) (M)

Space for rough work

Narayana Jaipur HO: B-28, Gopalpura Bypass Road, 10-B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018

13)




42.

43.

44.

45.

Two plates of a capacitor are connected to battery
and charged, the force of attraction between the
plates is F. If separation between the plates is tripled
keeping the battery connected the force between the
plates is

(1) 9F (2) 3F

(3)F/3 (4) F/9

The core of a transformer is laminated because
(1) the weight of the transformer may be reduced
(2) rusting of the core may be prevented

(3) ratio of voltage in primary and secondary may
be increased

(4) energy losses due to eddy currents may be
minimized

A magnetic dipole is under the influence of two

magnetic fields. The angle between the field

directions is 60° and one of the fields has a

magnitude of 1.2 x 1072 T. If the dipole comes to

stable equilibrium at an angle of 15° with this field,

the magnitude of the other field is nearly (Sin 15°
=0.25)

()12x103T  (2)42%10°T
(3)34x103T  (4)24x103T

Alternating current is transmitted at over far off
places

(1) at high voltage and low current
(2) at high voltage and high current
(3) at low voltage and low current

(4) at low voltage and high current

42,

43.

44.

45.

TP FIRA BT &l ©lcl dexd $

arel Bl 8, Wiel & 9 3y F grdm 2

de BT Sk @A & oY @il & dra grahRoT
EE)

A A BT ST §, 1 wlel & 41 del 91 8-
(1) 9F (2) 3F
(3) F/3 (4)F/9

SIBIR P BR THS—cbs H Bl ©, adifd—
(1) SRBFR BT aoi= HH BT ST Fdbar 8
(2) DR BT ST BT ABT ST FAHdT &

(3) wrIfia 3R fgeiad queell # dlecsl & IrguTd
EERIBSISC i

(4) ¥aR GRIRAT & HROT B dTell SHoll B DI HH
far S \war €

TP gaaid fggd a1 gaarg A & gqa | & | &3

@1 el & g BT BT 60° B R UH &F Bl

aRAT 1.2 x 102 T e | Ife fgga 59 &3 & e

15° @ 1T IR ReR AT UR 37T 2, Al O &3

BT YRATT T (Sin 15° = 0.25)

()12x103T  (2)42x10°T
(3)34x10°T  (4)24x10°T

T R R R X G 8l 8—
(1) S=d dlecol AR HH ORI W
(2) S=d dleco 3R ST ORI WX
(3) B diecol SR HH GRT TR
(4) B dlecyl 3R ST URT TR

Space for rough work
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PART - Il : CHEMISTRY

46. T Sd A 3R B &7 919 <1 Ha9: 100 3R 150

46.

47.

48.

49.

50.

The vapour pressure of two liquids A and B are 100
and 150 torr respectively. The vapour pressure of
solution obtained by mixing 3 moles of A and 2
moles of B will be

(1) 250 torr
(3) 110 torr

Which among the following aqueous solutions
will boil at lowest temperature?

(1) 0.1m AgNQ,

(2) 120 torr
(4) 135 torr

(2) 0.1 m sucrose

(3) 0.1m CH,COOH

(4) 0.1m CaCl,

Consider the following electrode potentials data
Zn* (aq) + 2e” = Zn(s);E" = -0.76

Fe* (aq) +e —» Fe*;E =+0.77V
Al**(ag) +3e~ = Al(s);E" =-1.66V
Br,(aq) +2e” — 2Br (aq);E =1.08V
Select the correct order of reducing power.
(1) Br >Fe*" >Zn> Al

(2) Al>Zn>Fe*" >Br-

(3) Al>Zn>Br >Fe*

(4) Al>Fe* >Zn>Br

Unit of rate constant for a first order reaction is
(1) Mol'Ls™ (2) MolL*s™
(3) Mol L*s™ @) s™

A reaction proceeds by first order, 75% of this
reaction was completed in 32 minute. The time
required for 50% completion is

(2) 16 minute
(4) 24 minute

(1) 8 minute

(3) 20 minute

47.

48.

49.

50.

TRE A A D 3 A IR B & 2 didl BT AT
I faeTas &1 91 q7d T B

(1) 250 torr (2) 120 torr
(3) 110 torr (4) 135 torr

f=foRaa & 9 @9 A1 Soily faoae 999 &4
T R STAT?

(1) 0.1mAgNQ,

(2) 0.1 m eIl

(3) 0.4m CH,COOH

(4) 0.1m CaCl,

frefeRad Selagrs fovd Ser ) R Sifim—
Zn** (aq)+2e — Zn(s);E =-0.76V

Fe* (ag) +e > Fe*" ;E =+0.77V

Al (ag) +3e” —> Al(s);E =-1.66V

Br,(ag) + 26" — 2Br™(aq);E =1.08V

dl, JUEID ARh & Hel HH BN aIF DI |
(1) Br >Fe* >Zn> Al

(2) Al >Zn > Fe* >Br-

(3) Al>Zn>Br >Fe*

(4) Al>Fe* >2Zn>Br-
HeF Bife B AMTHAT & 1y X Rerics & 18
T B?

(1) Mol™Ls™
(3) Mol L*s™ 4) st

T IIfATHAT T Bife I AT dedl 8, AR gTdT
75%, 32 fide # w1 far mar & a1 g9 50%
quf 89 H T aTell §HG 8T

(1) 8 e (2) 16 e
(3) 20 e (4) 24 f&FC

(2) MolLts™

Space for rough work
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51.

52.

53.

54.

5S.

Consider the standard reduction

potentials:

following

I. Fe”+2e —FeE;
. Fe®+e —Fe?E)
L Fe” +3e” —>FeE,

The correct relation between EJ,EJ & EJ is-

20 _ 9
3

0_po
3) E2=3E° +2E° (4 E°:3El—E2
3 1 2 3 2

() E;=

2EY +ES
13 2 (2) Eg —

Among the following list gives below, how many
are state functions. Temperature, Pressure, Internal
energy, Enthalpy, Entropy

O (2) 4

33 P2

Assertion (A): S - orbitals has no nodal plane
Reason (R): S - orbital is spherically symmetrical

(1) Both A and R are true, and R is the correct
explanation of A

(2) Both A and R are true, but R is not the correct
explanation of A

(3) Ais true, but R is false

(4) A and R are false

Essential basic amino acid among the following
(1) Glycine (2) Valine

(3) Leucine (4) Lysine

The solution showing positive deviation from
ideal behaviour is-

(1) CH,COCH, +CS,
(2) HCI+H,0

(3) HNO, +H,0

(4) C,H,OH+C,H,NH,

51.

52.

53.

54.

5S.

f=faRad 796 roeq favd R faaR difsto—

I. Fe”+2e —>FeE;
I. Fe®+e —>Fe?E)
III. Fe® +3e” — Fe;E,
EY,ES 3R E) & dr9 6l ey ©—

2E° + EO 2E° —E?
3

3

0 [0
(3) E2=3E°+2E (4 e 355
3 1 2 3 2

faforRad g § @, fbaw sraxen o g 9,
s 2)4

(3)3 4)2

FYT (A): S - BEH BT BIg ATSd del el &
PR (R): S - H&H MeATHR FHHT &

(1) A 3R R Tl 9 &, iR R, A @1 &I aEen
g

(2) A IR R Tl 9 &, ofhd R, A &1 Hal
TIEIHRUT & B

(3) A 9 &, Jfdh R 39T &

(4) A 3R R 37T &

(1) E3= (2) Eg=

f=foRaa & S savgs emIg THAET ST 2—
(1) aeRE ) dfer=
(3) < (4) TSR

I8 faea o1 eY WasR W uUAIHG  faued
gyefRfa ovdr a—

(1) CH,COCH, +CS,

(2) HCI+H,0
(3) HNO, +H,0
(4) CsH,OH+C,H.NH,

Space for rough work
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56.

57.

58.

59.

60.

Which reaction is not a redox reaction?

(1) Zn+CuSO, — 2ZnSO, +Cu

(2) 2KCIO; +1, = 2KIO, +Cl,

(3) H, +Cl, —»2HCI

(4) BaCl, + Na,SO, — BaSO, +2NaCl

When O, is converted to O, then
(1) Magnetic properties changes
(2) Bond order decreases

(3) Bond order increases

(4) Bond order remain same

Number of linear molecules among the following
CH, -C=CH,CO,, XeF,,C,0,
CH=C-C=CH,BeF,

(H2 ()6

35 43

The correct statements among the following

(a) Lactose is a non-reducing sugar

(b) Maltose is a reducing sugar

(c) Glucose and Fructose are a pair of epimers

(d) Glucose and Galactose are a pair of
diastereomers

(1) all are correct  (2) only b and d
(3)only band ¢ (4) only ¢
For the reaction, 3A+2B —>5C+4D.

Which of the following does not express the
reaction rate?

1 d[A] 1 d[C]
D370 @570

1 d[D] _1d(B]
S @&

56.

57.

58.

59.

60.

DI 1 Affar Yesiad sifafsar el 27?
(1) Zn+CuSO, — ZnSO, +Cu

(2) 2KCIO, +1, — 2KIO, +Cl,

(3) H, +Cl, - 2HCI

(4) BaCl, + Na,SO, —BaSO, +2NaCl
59 0,, O; # uRdfeid & Sirar &, a9
(1) e o1 gRad= gIdr 2 |

(2) 9 %HH FHH & ST B |

(3) ¥ ®¥ Fedr 2|

(4) ¥ ¥ T & 2 |

fefeifad 5 3 WRawb 37ogeil &1 F&ar aarsy—
CH, —C=CH,CO,, XeF,,C,0,

CH=C—C=CH,BeF,

(1)2 (2)6
3)5 “4)3
fAfoRad & & & B gfg—

(a) SIS Ud IR AHT &

(b) AT U SUAIEH DT 2

(c) TSdIST 3R Thaerel vimd &1 g 2

(d) TeIhId AT IefdlS STRCAH &7 Rk g

(1) o+ w8 & (2) &ad B 3R D
(3) @ael B 3R C (4) dda1 C

arfafhar 3A+2B—>5C+4D & forv,.
f=flRag # 9 @9 WfhaT <% B AH Tl
BT 87

1d(A] 1dc]

M 3 dt @ 5 dt
1d[D] _1d[B]

®) 4 dt @ 2 dt

Space for rough work
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61.

62.

63.

64.

65.

Ideal conditions for the decomposition of CaCO,
is [CaCO,(s) = CaO(s) + CO,(g)AH = +ve]

(1) Low temperature, high pressure

(2) High tenperature, Low pressure

(3) High temperature, High pressure

(4) Low temperature, Low pressure

2 mole each of A and B are heated in a 1L vessel
to establish an equilibrium

[2A) + B, = A, B, ]at equilibrium 0.5 mole

of A,Bis formed, the value of k_ for the above
equilibrium. [Only magnitude]

1 2
(M3 2 3
5

(3)4 )

Amongst the given options which of the following
molecules/ion acts as a Lewis acid?

(1) BF, (2) OH"

(3) NH, 4) H,0

Spontaneous process among the following is

(1) Rusting of iron

(2) Melting of ice at —10'C

(3) Flow of heat from a colder body to hotter body

(4) Formation of O, from O

2(9)
An acidic buffer is prepared by mixing?
(1) weak acid and its salt with strong base

(2) Equal volumes of equinormal mixture of weak
acid and strong base

(3) Strong acid and its salt with strong base
(4) Strong acid and its salt with weak base
(The pK,of acid =pK,, of the base)

61.

62.

63.

64.

65.

CaCO, @ veed & foy amast Rerfa 2|
[CaCO,(s) = CaO(s) + CO,(g)AH =+ve]
(1) &9 dM, I T4

(2) S MY, BH a6

(3) Soa 1Y, Iod <19

(4) BH dIY, HH <19

[2A +By =A,By, | # A= werifid &=a &
U AR B # 9 0% & 2 Al IL U H T
fPy S0 &, O W W AB & 0.5 A g
2, O SRIb AR & gk, (daer gikamer) gmm—

1 2
@3 2 3
5

3) 4 @ 2

QU U fadredl § | DI AT 319 /AR Jg9 I+
@ WU H P BT &7

(1) BR, (2) OH"
(3) NH, (4) H,0

f=faRad @ i wad: vafdd 23—

(1) &g § ST T

(2) -10°'C TR 9% &I fOerern

(3) cs fie & ™ fis d% ™1 &1 yarE
(4) O,y , Oy, T HHITT

2(9)

U I %Y 4 & H810T gRT IR foar Sirar
-

(1) S 37 SR Uad &R & 1T $HHT Ao
(2) g9 IR 3R Ydl &R b AAGT AT DY
A AT

(3) Udel 3T 3R Udal &R & 1T $HBT Aa0T
(4) U9 IR 3R SHHT gl &R & ATeJ g1 AqUT
(@t @ pKa:WEFerb)

Space for rough work
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66.

67.

68.

69.

For a weak acid HA, the percentage of dissociation
is nearly 1% at equilibrium. If the concentration of

acid is 0.1molL™, then the correct option for its
Ka at the same temperature is?

(1) 1x10™ (2) 1x10°°
(3) 1x10°® (4) 1x10°°

Splitting of a spectral line in a strong magnetic
field is known as

(1) Stark effect

(2) Zeeman effect

(3) photo electric effect

(4) Crompton effect

In Etard reaction, the final product is
(1) Aromatic aldehyde
(2) Aromatic chloride

(3) Aromatic amine

(4) Aromatic alcohol
Match List-T with List-1I:
List-1

(A) Tollen's reagent (B) Jones reagent
(C) Lucas reagent
List-11

(D) Fehling solution

(I) aqueous CuSO,+ Rochelle salt
(IT) Conc. HCl and ZnCl,

(IIT) Ammoniacal silver nitrate
(IV) Chromium trioxide-sulphuric acid

Choose the correct answer from the options given
below:

(1) (A) - (1D, (B) - (IV), (C) - (D), (D) - (I)
() (A) - (IV), (B) - (IID), (C) - (1), (D) - (IT)
(3) (A) - (D), (B) - (IV), (C) - (1), (D) - (IIT)
4 (A) - (T, (B) - (D), (C) - (IV), (D) - (IT)

66.

67.

68.

69.

UH gadd Fd HA & folg Im1 R faarme
gfaeraar 1% o g1 It el @ e

0.1molL™? 8, d {9 a9 WR 39 Ka &1 &l A8l
I ERIT—

(1) 1x10™ (2) 1x10°°
(3) 1x10™ (4) 1x10°®

Th Jacl a1 & H Yeb qUishHd Xl o faHTeT
®I fhg w9 # ST ST 87

(1) ¥TH g9

(2) ¥ v

(3) Tbrer fagd v
(4) pI¥geH g9

vers fafpar # sifdw Sare 2

(1) WHEH Ulceese

(2) WHCH FeRZS

(3) WiHfed T

(4) WHAfew Yedpiga

FAI-1 & |l G-Il BT [l oiforg—
List-1

(A) Tollen's TAHHD
(C) Lucas 31 &H®
List-I1

(I) STefla CuSO, + el ST

(I) | HCl 3R ZnCl,

(B) Jones 3ff&H®
(D) Fehling faera=

(I1T) S Ricer Asge
(IV) DI trioxide- AHRIRS 37T
ar 98 fAeed &1 T HI:

(1) (A) - (TI), (B) - (IV), (©) - (D), (D) - (T)
(2) (A) - (IV), (B) - (ID), (C) - (1), (D) - (IT)
(3) (A) - (D), (B) - (IV), (C) - (D), (D) - (IIT)
(4) (A) - (T, (B) - (D), (C) - (IV), (D) - (IT)
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70.

71.

72.

73.

Identify the correct order of organic compounds in
the following chemical reaction:

r)+Mg DryEther ),) H,0 >I) Cl,-A n
(A) CH,MgBr (B) CH,Br
(C) CH,CI (D) CH,

Choose the correct answer from the options given
below:

(1) (B), (A), (D), (C)
(2) (A), (©), (B), (D)
(3) (B), (A), (C), (D)
4 (C), (B), (D), (A)

The oxidation number of Coin complex

[ Co(H,NCH,CH,NH,), | (SO, ), is
(13 (2)4
(3)2 5

Reaction of aniline with conc. HNO,and conc.
H,SO, at 298 K will produce 47% of

(1) p-Nitroaniline  (2) o-Nitroaniline

(3) m-Nitroaniline = (4) 2,4-Dinitroaniline

In the following compounds, what is the increasing
order of their reactivity towards nucleophilic
addition reactions?

Benzaldehyde, p-Tolualdehyde, p-
Nitrobenzaldehyde, Acetophenone

(1) Benzaldehyde < p-Tolualdehyde < p-
Nitrobenzaldehyde < Acetophenone

(2) Acetophenone < Benzaldehyde
Tolualdehyde < p-Nitrobenzaldehyde

(3) Acetophenone < p-Tolualdehyde <
Benzaldehyde < p-Nitrobenzaldehyde

(4) Benzaldehyde < Acetophenone
Tolualdehyde <p-Nitrobenzaldehyde

<p-

<p-

70.

71.

72.

73.

fa=forRad sarafae ififhar & wdfAe Aifal
P Tl PH DI U BITTT:

7+Mg DryEther ,? H,0 ,? Cl,-A )7
(A) CH,MgBr (B) CH,Br
(C) CH,CI (D) CH,

I oy U fAwedl # A WE SR BT AT BIRTE

(1) (B), (A), (D), (C)

(2) (A), (C), (B), (D)

(3) (B), (A), (©), (D)

(4) (C), (B), (D), (A)
[Co(H,NCH,CH,NH,), | (s0,), # Co @
SifaRATHRUT R B—

(1)3 (2)4

(3)2 @5

A HNO, 3iR | H,SO, & wmer uHferd @l
ffehar 298 K R 7191 &1 47% <iT—

(1) p-Nitroaniline  (2) o-Nitroaniline

(3) m-Nitroaniline  (4) 2,4-Dinitroaniline
fefaRed Al 8 Aife™E IS
fAfehamet & Ul SaT AT &1 ggar B9 =T
g7

Benzaldehyde, p-Tolualdehyde, p-
Nitrobenzaldehyde, Acetophenone

(1) Benzaldehyde < p-Tolualdehyde < p-
Nitrobenzaldehyde < Acetophenone

(2) Acetophenone < Benzaldehyde < p-
Tolualdehyde < p-Nitrobenzaldehyde

(3)  Acetophenone <  p-Tolualdehyde <
Benzaldehyde < p-Nitrobenzaldehyde

(4) Benzaldehyde < Acetophenone < p-
Tolualdehyde <p-Nitrobenzaldehyde

Space for rough work
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74.

75.

76.

In the reaction, (CH,),C-O-CH,+HI—

Products
CH,OHand (CHj;),Cl are the products and not

CH,land (CH;),C—OH . It is because,

(A) in step 2 of the reaction the departure of
(HO—CH,) creates less stable carbocation

(B) in step 2 of the reaction the departure of
(HO—CH,) creates more stable carbocation

(C) the reaction follows S 1mechanism.

(D) the reaction follows S, 2mechanism

Choose the correct answer from the options given
below:

(1) (B) and (D) only (2) (B) and (C) only

(3) (A) and (D) only (4) (A) and(C) only

In the following reaction, identify the product D.

Zndust CH3Cl+anhy.AlCI
A 3 y s yB

C4Hs —OH

KoCrO; +H80; (3. HyS0,+HNO, \y
7

(1) o-Nitrobenzoic acid
(2) p-Nitrobenzoic acid
(3) o,p-Dinitrobenzoic acid
(4) m-Nitrobenzoic acid

Match List-I with List-II:

List-1 List-II

(Compound) (Property)

(A) COCl, (D To distinguish between
primary, secondary  and
tertiary amines.

(B)

- (II) Poisonous gas
©)

74.

75.

76.

AMAfBAT (CH,),C~O0~-CH, +HI > STg, |

CH,OH 3R (CH,),Cl S&1g 8 3R CH,l 3R
(CH,),C—OH =&l & wifd,

(A) IAfHaT & =RT 2 H (HO-CH,) &8 ReR
praTBergd g41dT &

(B) a1f¥fehar @ =RoT 2 # &1 (HO—CH, )T ST
3 ReR P a-mar 2

(C) sifaferar S 1 franfafdr grr w99 & @
(D) sifafsrar S 2 forarfafdr grr w7 8t 2
M AU U famedi § | I8 SR BT AT DI
(1) ®del (B) 3R (D) (2) Bl (B) 3R (C)

(3) Bl (A) 3R (D) (4) Badl (A) 3R (C)
fermforReaa srffhar #, Scare D &1 ygare $iforg—

CH;Cl+anhy.AlCI, B

Zndust
ndus! s> A

C4H, —OH

KCrhO, +H80, o~ HySO,+HNO; 1y
7\ 7

(1) o-Nitrobenzoic 37T
(2) p-Nitrobenzoic 311
(3) o,p-Dinitrobenzoic 3+
(4) m-Nitrobenzoic 37%c1

A1 & A1 G-Il BT HAF bifoe—

-1 -1

(@) (T

(A) COCl, @) werfies, fadae iR
qoiad v & drg e
BT |

. (I1) STe<relt 1
©

Space for rough work
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77.

78.

79.

80.

(III) Synthesis of primary
amines

(IV) Zwitter ion

Choose the correct answer from the options given
below:

(1 (A) - (D), (B) - (D, (C) - (IV), (D) - (IIT)
(2) (A) - (D), (B) - (D), (C) - (1), (D) - (AV)
(3) (A) - (D), (B) - (ID), (C) - (TV), (D) - (IIT)
@ (A) - (D), (B) - (D), (C) - (IID), (D) - AV)

The order of reactivity of the given haloalkanes
towards nucleophile is

(1) RI>RBr>RCl (2) RClI>RBr >Rl
(3) RBr>RCI>RI (4) RBr>RI>RCl

Among the following 3d series elements, sudden
dip in melting point is observed in

() Ti @)V
(3) Cr (4) Mn

Number of structurally isomeric ethers possible
with the formula C,H;,Oare

M1 (2)2

(33 (4) 4

Which of the following is incorrect combination?
(1) Acyclic compound - propane

(2) Non - benzenoid aromatic compound -Tropone
(3) Aliphatic compound - Acetaldehyde

(4) Heterocylic aromatic compound —Benzene

77.

78.

79.

80.

(IIT) TTeAfHeh THI= T
HAgeryor

(IV) Raex ama+

11 fag g famed 3§ I WL IR BT T BV
(1) (A) - (IT), (B) - (1), (C) - (IV), (D) - (IIT)
(2) (A) - (1), (B) - (1), (C) - (I1I), (D) - (IV)
(3) (A) - (D, (B) - (ID), (C) - (IV), (D) - (11I)
4)(A) - (D), (B) - (1), (C) - (1), (D) - (IV)

IfFapsa & Ufd Ry U gdlVedd @l
fAfehareiierdr &1 |8 HH /T 87

(1) RI>RBr>RCl (2) RCl>RBr>RI
(3) RBr>RCI>RI (4) RBr>RI>RCI

ffeiRed 3d sE@en d@i § 9, Toia § aF®
P4l fhad <l T 3

(1) Ti @V
3)Cr (4) Mn

g3 C,H,0 & W $R & {9 ASAHAD
AT BT =T o—

(M1 (2)2
(3)3 (4)4
frefoRad & 9 &4 a1 dIo Ted 8?

(1) @ AffTe — dud
(2) srdoiHfgs WHfesd AffTed —gmH
(3) vferhied IS — THIcicsass

(4) RAyFas WHlew JIfTe —doi|

Space for rough work

Narayana Jaipur HO: B-28, Gopalpura Bypass Road, 10-B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018

(22)




81.

82.

83.

84.

8s.

The complex with spin-only magnetic moment of
nearly 4.9 B.M. is

() [Fe(H,0), " @ [FeCN), T

3) [FeCN),]" @ [FG(HZO)GT

The first ionization potential of Mg,Al,Pand S
follows the order

(1) Mg<AI<P<S (2) Al<Mg<P<S

(3) Al<Mg<S<P (4) Mg<Al<S<P

The existence of two different coloured complexes
of [ Co(NH,), Cl, |is due to

(1) optical isomerism
(2) linkage isomerism
(3) geometrical isomerism
(4) coordination isomerism

Statement I: Silica gel and alumina are used as
adsorbent for adsorption chromatography

Statement II: Paper chromatography is a type of
partition chromatography

In the light of above statements, select the correct
option.

(1) Statement I is true but statement II is false
(2) Statement I is false but statement II is true
(3) Both statements I and II are true

(4) Both statement I and II are false

A and B are respectively
AgCN _
— > A(Major)
CH, ~CH, —CF— | e
: i | KON B(Major)

(1) CH, —CN,CH, —NC
(2) CH, —NC,CH, —CN

(3) CH, —CH,CN,CH,CH,NC

(4) CH, —CH,NC,CH, —CH, —CN

81.

82.

83.

84.

8s.

T 4.9 BM @ ddel RIF—gadbIa 3Me0l arell
A AT 87

() [Fe(H,0), " @ [FeCN), T

(3) [Fe(CN), ] @ [FG(HZO)GT

Mg, AlLP3IR S & Ugdl Mg fawd &1 el HH
g

(1) Mg<AlI<P<S (2) Al<Mg<P<S
(3) Al<Mg<S<P (4) Mg<AI<S<P

[Co(NH,),Cl, | & &1 srer—aferT 1 & el

@ AR BT PRI 8—

(1) YBIRr® FTHEITdT

() foiest Fwagadn

(3) AR FHTEIadT

(4) =T GG

$oE I Riferdr Sl iR Teg@er &1 SudnRT
IfErRiToT HHERT®! & fog sfdeiyes & w9 #
o ST ®

P II: TR DPHSATHI TH YbR P a9
BRSS! 2

SIRIE HUAT & 3Tl H, Fal [Abcd Bl aI
DI |

(1) I [ T & Afb HUF 11 8RIT ®

(2) BUF [ 3T § A U 11 T 7

(3) B [ 3R Il SHT 9 & |

(4) ®UF 1 AR I <HI 3 &

A 3R B HaI: ©

AgCN _
— > A(Major)
G, =CH, ~ET~ | w5z
. i | KON B(Major)

(1) CH, —CN,CH, —NC

(2) CH, —NC,CH, —CN

(3) CH, —CH,CN, CH,CH,NC

(4) CH, —CH,NC,CH, —CH, —CN

Space for rough work
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86.

87.

88.

89.

90.

The reagent which is used for given conversion

H H
N S
CH,-C=C-CH, — C=C
N

CH, CH,

3

(1) H,/ Lindlar catalyst
(2) H,/Ni,300°C

(3) H, /Pt

(4) Na/Liquid NH,

In given compound, which has highest boiling
point

(1) n-Pentane (2) n-Butane
(3) Neopentane (4) Isopentane
Correct order of IP is

(1) B>TI>Ga>Al>In

2) B>Ga>Al>Tl>In

3) B>Tl<Ga>In>Al

4 B>Ga>In>TI>TI

E° is highest when ' M ' is

M3 /M2
(1) Fe (2) Cr
(3) Mn (4) Ti
The pair of lanthanide ions which are diamagnetic

is [Atomic number: 58%,61°™,62°" & 63%'70"" ]
(1) Ce* and Yb*'
(3) Gd** and Eu* (4) Pm* and Sm*

(2) Ce**and Eu*

86.

87.

88.

89.

90.

AfeH® ot fAU 7T wUiaRel & forg U faar
ST B—

H H
N S
CH,-C=C-CH,— C=C
/N
CH, CH,

(1) H,/ Lindlar catalyst
(2) H,/Ni,300°C

(3) H, /Pt

(4) Na/ Liquid NH,

dg ?ﬂ'm?ﬁ RNTa®T FaeFid Sadd aldl A1"3'
(1) n-Pentane (2) n-Butane
(3) Neopentane
IP &1 |El A oI 27

(1) B>TI>Ga>Al>In
(2) B>Ga>Al>Tl>In
3) B>Tl<Ga>In>Al

4 B>Ga>In>TI>TI

(4) Isopentane

E. .. SoddH & O 'M'%
(1) Fe 2) Cr
(3) Mn (4) Ti

gIge Ml @1 T Sl ufagedrd g €
[U=HTY] Hen: 58%,617",62°" 3R 63770™ ]

(1) Ce* 3R Yb* (2) Ce* &R Eu*
(3) Gd* 3R Eu* (@) Pm* 3R Sm*

Space for rough work
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PART - Ill : BOTANY

91. What is a significant disadvantage associated with | 91. 3TJaRId wU ¥ FUIMET (GM) BHAl & IATEH |

the production of genetically modified (GM) Sl U He@qul JHAN RIT 57

crops? (1) B B IUST R U9 gog # i

(1) Increased crop yield and nutritional value (2) BeTAF B HH SYART A GG

(2) Potential for reduced pesticide use (3) el el aredt @1 ofe warE W TrRRerf

(3) Risk of gene flow to wild relatives causing
ecological imbalance

(4) Enhanced resistance to environmental stresses
92. Why is quality control crucial in downstream

AT BT W

(4) wafaroia qerdt @ forg aer afiRi

processing of biotechnological products? 92. U9 WIS IR & SIS TEERRT H
(1) To enhance the rate of genetic transformation UEERIREEEY ERl HchLi\Ui &7
(2) To ensure the safety, efficacy, and consistency (1) 3mgaRie aRacds @1 = T 9o & forg

of the product (2) SHIE &I GRel, y9EHINGr AR Rear
(3) To decrease the efficiency of the cloning S IRIEEK] & @ fory

process (3) TN UfhaT @1 G&TdT B HH B B oIy
(4) To decrease the yield of recombinant DNA (4) GTINTST DNA & Seee &1 &F o+ & forg

93. Ina stirred—.tank bioreactor, which component is 93. TH fIddied <@l aRRudex ¥ b9 "cd &l

usqd to withdraw small volumes of culture SR G-I G [9eINe & forv Gaee @
perlodl.cally for analysis? DY T B PIBIeR @ fr0 fpT ST 27
(1) Agitator system (1) TR =

(2) Oxygen delivery system
(3) Sampling port e
(4) Foam control system G) ure

94. Study the following diagram given below (4) ®m i i _E_ |
regarding rDNA technology and choose 94. [DNA d&-ild & Hael H <9 QT 7T RS Bl
appropriate option related to it I HITOTY IR /Y Had ST fddhed g

(2) Sifa=iroT faa=or woreft

(1) To enhance DNA replication in vitro. (1) 39 fagr § DNA gfcpfa I & forg |

(2) To precipitate and collect DNA by spooling. (2) T RT DNA & [FeIfid IR UHha T |
(3) To denature the DNA into single strands. (3) DNA &I Tdhd Q:!\;ﬁ ki faga B P forv |

@) "Sl"(())lu?in;rellsure the concentration of DNA in (4) T 3§ DNA &) Sigar & 90 & g |

Space for rough work
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95.

96.

97.

What is the purpose of a selectable marker in a
vector?

(1) To increase the rate of DNA replication.

(2) To identify and eliminate non transformants
during transformation.

(3) To initiate the process of DNA synthesis.
(4) To determine the origin of replication.

Assertion (A): DNA fragments can be visualized
under visible light after gel electrophoresis.

Reason (R): After gel electrophoresis DNA
fragments are stained with ethidium bromide and
exposed to UV light for visualization.

(1) Both A and R are true, and R is the correct
explanation of A

(2) Both A and R are true, but R is not the correct
explanation of A

(3) Ais true, but R is false

(4) Ais false, but R is true

Read the following
incorrect statement:

statements and  choose

a. Bacillus thuringiensis (Bt) spores are used to
kill butterfly caterpillars by releasing toxins in
their gut.

b. Ladybird beetles are biocontrol agents used to
manage aphids.

c. Baculoviruses are harmful to plants and
mammals.

d. Trichoderma fungi are used as biocontrol
agents against several plant pathogens.

e. Bt-cotton is a genetically engineered crop
resistant to insect pests.

(1) Only c (2)aande

(3) candd (4)bandc

95.

96.

97.

TP ddex H Uh IIcHD fogdh Se3g T &7
(1) DNA ¥fadfd @1 &% 9 & forg |

(2) aRATH & SRM J[UCRDI I T Bl

IR I IH FHAT|
(3) DNA |l Bl UihAT Y& B & oy |
(4) 9T @ SAfT & FERT o & fog |

DU (A): Sl IGTHUAIT D d1& I T &

Ted DNA & ¢Hhel ®I < Sl §hdll & |

PRI (R): ST JEABUNETT & 916, DNA The

UfIfeay sEss @ SIRfTT fhd Wd & 3R I

@& oy gdY ueTer 9 SMgd B 2|

(1) AIRR Tl 9 &, 3R R, A ®T &I TCIH0T
&

(2) AR R T g & ofdéT R, A & |8
TIEIHRY T8l ®

(3) A¥ B, dfhT R 39T

(4) A3 ®, JfbIR 9T 8

fferRad wel @ afey iR Tod HUF &1 T+

PITY:

a. dierere gRIoTof~eT (1E)) ISRl &1 U
fdell dexfier &1 SHd o # faurh uaref
@ Gfdd ¥ ARA & forg fvan sirar 2

b. <ielde dicd oig A Yoic & e SuanT
ufthegd & Wdege @ fory fdar S 21

c. dgogrEvy Ul R wWAEIRAT @ fog
NGRS ¢ |

d. grEPISH Had BT SUANT &5 Uikl & T
?@wéaﬁw Toiet & ®u # fhar Srar

|

e. dIE—Pied Udh AGARIS ®U A SOIR HAA
2 Sl DIl & forg AR 7 |

(1) ®ad ¢ (2)a 3R ¢

(3) c 3R d (4)b 3R ¢

Space for rough work
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98.

99.

100. During the translation process, what happens in the

101.

Which of the following are essential roles of
ribosomes during translation?

a. Ribosomes provide a platform for mRNA and
tRNA interaction.

b. Ribosomes catalyze the formation of peptide
bonds between amino acids.

c. Ribosomes DNA

translation.

synthesize during

d. Ribosomes transport amino acids to the site of
translation.

Choose the correct option:

(1) aand b (2)aandc

(3) bandd (4)candd

Which of the following statements correctly

describes the role of the repressor in the lac

operon?

(1) The repressor binds to the promoter region to
block RNA polymerase.

(2) The repressor inhibits the permease enzyme
from transporting lactose.

(3) The repressor binds to the operator region to
block transcription.

(4) The repressor facilitates the transcription of z,
y, and a genes.

first phase?

(1) mRNA binds to the large subunit of ribosome.

(2) Peptide bonds are formed between amino
acids.

(3) Amino acids are activated and linked to their
cognate tRNA.

(4) Ribosome dissociates into subunits.

Assertion (A): UUU codes for Phenylalanine

(Phe) in both bacteria and humans.

Reason (A): The genetic code is nearly universal

across organisms.

(1) Aistrue, but R is false.

(2) Both A and R are true, but R is not the correct
explanation of A.

(3) Both A and R are true, and R is the correct
explanation of A.

(4) Ais false, but R is true.

98.

99.

100.

101.

FfeRad 5 | B9 AT JgdTed & SR ISIRHA

@Y MILTH HADT 87

a. YIgardd mRNA 3R tRNA & $eRaRM & oy
T Hel Y& B B |

b. RISARAM SHF! 3 & dId UCTSS §¢ & I3
BT IART I £ |

c. SAM Al & AR DNA I Helfd
H ¢ |

d. s SR TRYS Bl Jrgdra @l |ige WR
o O €|

el fdwed &1 999 dIfiy:

(1) a 3R b (2)a 3R ¢

(3) b 3R d (4)c 3k d

f=faRag & 9 &9 9 $99 dd AMWRME H
SHABR] DI AT BT FEl quiF BT 57

(1) TAFBHRT tRNA GIeiFRST Bl 3[a%g R & fo1v
YHICY & ¥ sl R |

(2) TATHRI el @ IRIET A URANT TolsH Bl

R 2 |

(3) TATBRI Ufdelas @I 3[avg IR b oy
3ifoReR &5 ¥ e 2|

(4) TAAPRI 7,y 3R a S & rgelEd &I Ffaen
T HaT & |

3raTE HfhAT & SR, Ugel dRUT H &1 BIAT &7

(1) mRNA TSEEH &) G SUSHIS | =T 2 |

2) 3 TR @ I Uergs §fs 994 © |

(3) 3l YRTS Afha B & &R S Aed
tRNA ¥ 98 & 2|

(4) TZANAH IUSHTSAT H 37T & Sl & |

B (A): JFEIRAT R A} ST H BfYTA

(Phe) & forg @wIe UUU € |

T(R):Waﬁsﬁﬁmvﬁﬂﬁﬁzﬁ

|

(1) AV B, AfhT R e™7g R |

(2) A R R T 9@ € ofdd R, A &1 |8
RO el B |

(3) gaﬁ?Raﬁw%aﬁ?R,Amﬂé‘rm@w
|

(4) A3 B, JfpIR T |
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102.

103.

104.

10s.

106.

Linkage maps are based on which of the
following?

(1) Physical distances between genes on different
chromosomes.

(2) Phenotypic expression of genes.

(3) Genetic recombination frequency between
genes located on same chromosome.

(4) The number of chromosomes in a cell.

Which of the following laws states that in a
heterozygous condition, one allele masks the
expression of the other allele?

(1) Law of Segregation

(2) Law of Dominance

(3) Law of Independent Assortment

(4) Chromosomal Theory of Inheritance

Assertion (A): In incomplete dominance, the F;

generation has a phenotype that is intermediate

between the two parents.

Reason (R): In incomplete dominance, the

dominant allele is not completely dominant over

the recessive allele, resulting in a blended

phenotype.

(1) Both A and R are true, and R is the correct
explanation of A.

(2) Both A and R are true, but R is not the correct
explanation of A.

(3) Aistrue, but R is false.

(4) Ais false, but R is true.

What is the process called in which seeds are

produced without fertilization?

(1) Parthenocarpy (2) Apomixis

(3) Polyembryony (4) Somatic hybridization

Which plant’s 2,000-year-old viable seed was

discovered near the Dead Sea during

archaeological excavations?

(1) Ficus

(2) Lupinus arcticus

(3) Striga

(4) Phoenix dactylifera

102.

103.

104.

105.

106.

aN

fofdot A frferlRaa # & foa o emenRa €7

(1) R = ToRgEl R SiF & 9= 4ifae 4 |

(2) STF & ALTOTYRRY ST |

(3) To & PRI W Rerd SiF & g argaflRie
grTerT g |

(4) U DIRIBT H YORIAT B AT |

frfoRed & & @9 @ 99 gaar g &

frwgersll Refd o, u Uelld gER Uelid @l

fWefh ®T guTdT &7

(1) gUEpROT BT 19

(2) wIfaT &t fraw

(3) Xada 3fuege &l |

(4) SraRrmdr &1 R Rigia

AT (A): YT JHIIAT ¥, Fy 4T H U FA&0IRey

BT 2 ST &1 Ugal & drF Aegad) g ¢ |

PR (R): 3701 ywifachar &, gwrd 9

WE A JqPHd JHRGA W g & g g,

e aRvREwY Uh A3 deToriey 31T 2 |

(1) gaﬁ'\’RﬁW%\ﬁaﬁ’\’R,AWﬂ%ﬁW@W
|

(2) A 3R R Tl 9 & ofdd R, A &1 |8
TIETHRUT Tl 2 |

(3) AN ¥, IfdT R eIg B |

(4) A3 B, JfhTR I B |

I UfshaT Bl AT BT SIdl & g fA8=d & fa=r
91 BT SaTed fhar ST 87
(1) N EHAA (2) vuIfAfRTa
(3) dgyuIdr (4) BIB FHRoT

Yl & QR 9d WR & U9 {6 dig
@ 2,000 ATl YR SHAT G161 B @ISl Bl 75 A7
(1) BIsHA
(2) SGUTH D IcHA
(3) Rgmm
(4) BRI SFCTABRT
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107. Read the following statements carefully and

108.

109. Which of the following statements about auxins is

identify which of the following are incorrect:
Statements:

a. The portion of the embryonal axis above the
cotyledons is called the hypocotyl.

b. The root tip in dicot embryos is covered with
a root cap.

c. In grasses, the cotyledon is called scutellum,
located laterally to the embryonal axis.

d. The coleoptile encloses the radicle and the root
cap in monocots.

e. The epicotyl in monocots has shoot apex and
leaf primordial enclosed in coleoptile.

(1) aandd (2)bande

(3) cande (4)aand c

Consider the following statements about growth

and differentiation in plants:

Statement A: Growth in plants is irreversible and

occurs due to the activity of meristems such as root

and shoot apical meristems, which contribute to

elongation.

Statement B: Differentiation in plants is rigid, and

once cells differentiate, they cannot dedifferentiate

or redifferentiate.

(1) Both statements are correct.

(2) Both statements are incorrect.

(3) Statement A is correct, and Statement B is
incorrect.

(4) Statement A is incorrect, and Statement B is
correct

correct?

(1) Auxins are only synthetic compounds and do
not occur naturally in plants.

(2) Auxins promote rooting in stem cuttings and
are used in plant propagation.

(3) Auxins are ineffective in preventing early fruit
and leaf drop.

(4) 2,4-D is a natural auxin that promotes the
growth of dicotyledonous weeds.
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110. Which of the following enzymes is involved in the

111.

112.

113.

conversion of pyruvic acid to ethanol during

fermentation?

(1) Alcohol  dehydrogenase
dehydrogenase

(2) Pyruvic acid decarboxylase and alcohol
dehydrogenase

(3) Lactate dehydrogenase and pyruvic acid
carboxylase

and lactate

(4) Pyruvic acid carboxylase and alcohol oxidase

Read the following statements about aerobic
respiration and identify if they are correct or
incorrect:

1. The complete oxidation of pyruvate to CO;
occurs in the matrix of the mitochondria.

2. The electron transport chain is located on the
outer membrane of the mitochondria.

(1) Both statements are correct.
(2) Both statements are incorrect

(3) Statement 1 is correct, but Statement 2 is
incorrect.

(4) Statement 1 is incorrect, but Statement 2 is
correct.

Which of the following statements about ATP
synthase (Complex V) is correct?

(1) The F; component is an integral membrane
protein and facilitates proton transport.

(2) The Fo component is a peripheral protein
complex responsible for ATP synthesis.

(3) ATP synthesis occurs at the catalytic site of the
F1 component.

(4) Proton transport through the Fo channel is
independent of ATP synthesis.

Which enzyme catalyzes the condensation of
acetyl CoA and oxaloacetic acid to form citric acid
in the TCA cycle?

(1) Citrate synthase

(2) Isocitrate dehydrogenase

(3) Succinate dehydrogenase

(4) Alpha-ketoglutarate dehydrogenase

110. fPpvad & SR UTsofdd URTS &I ST & daoid
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114.

115.

116.

117.

118.

Which of the following pairs of photosynthetic
pigments and their colours is incorrectly matched?

(1) Chlorophyll a - Bright or blue-green
(2) Chlorophyll b - Yellow-green

(3) Xanthophylls - Yellow

(4) Carotenoids - Blue

Which of the following is NOT a function of
accessory pigments in photosynthesis?

(1) Absorbing light from a wider range of
wavelengths.

(2) Protecting chlorophyll a from photooxidation.

(3) Transferring energy to chlorophyll a.

(4) Directly participating in the synthesis <of
glucose.

What is the name of the electron transport scheme
in photosynthesis that involves the transfer of
electrons through Photosystem II, the electron
transport chain, Photosystem I, and ultimately
reduces NADP' to NADPH+H"?

(1) Cyclic photophosphorylation
(2) Z scheme

(3) Linear electron transport

(4) Chemiosmosis

Where is Photosystem II (PS II) physically located
in the chloroplast?

(1) Stroma of the chloroplast

(2) Outer membrane of the chloroplast
(3) In thylakoid membrane

(4) Cytoplasm of the cell

What is the function of kinetochores during
metaphase?

(1) To condense chromosomes.
(2) Chromosome elongation

(3) To attach spindle fibres to chromosomes for
alignment.

(4) To separate homologous chromosome.
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119.

120.

121.

122.

123.

124.

In animal cells, cytokinesis occurs through:

(1) Formation of a cell plate.

(2) Deepening of a cleavage furrow.
(3) Synthesis of middle lamella.

(4) Division of organelles only.

Which of the following statements about
polysaccharides is correct?

(1) Inulin is a polymer of glucose.

(2) Glycogen is a storage polysaccharide found in
plants.

(3) Starch can hold iodine in its helical structure,
giving a blue color.

(4) Cellulose forms helices and can hold iodine.

Replum is found in which family?
(1) Solanaceae (2) Liliaceae
(3) Brassicaceae (4) Fabaceae
What is absent in Bacteria?

(1) True Nucleus

(2) Mitochondria

(3) Plastids

(4) All of the above

Which of the following structures in cyanobacteria
contains pigments and aids in photosynthesis?

(1) Pili (2) Chromatophores
(3) Mesosomes (4) Ribosomes

In a dorsiventral (dicotyledonous) leaf, the
palisade parenchyma is:

(1) Loosely arranged with large air spaces

(2) Located adaxially and composed of elongated
cells

(3) Found below the spongy parenchyma

(4) Situated in the vascular bundles
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125.

126.

127.

128.

129.

130.

In which type of vascular bundle arrangement are
the xylem and phloem located together along the
same radius, typically found in stems and leaves?

(1) Radial vascular bundles
(2) Open bicollateral vascular bundles
(3) Conjoint vascular bundles

(4) Closed bicollateral vascular bundles

Match the following types of aestivation with their
examples:

1. Valvate a. Calotropis

2. Twisted b. China rose

3. Imbricate c. Cassia

4. Vexillary d. Pea

(1) 1-¢c,2-b,3—-d,4—2a
2)1-b,2-d,3-a,4-c¢
3)1-c,2-b,3—-a,4-d
4)1-a,2-b,3-c,4-d

What is the dominant phase of the life cycle in
pteridophytes?

(1) Gametophyte = (2) Sporophyte

(3) Zygote (4) Prothallus

Which of the following is a characteristic feature
of bryophytes?

(1) Presence of true roots, stems, and leaves

(2) Presence of vascular tissues

(3) Dependence on water for sexual reproduction
(4) Production of seeds

Which of the following is an example of a
hypogynous flower?

(1) Plum

(2) Mustard

(3) Guava

(4) Rose

Which of the following is true about viroids?

(1) They are made of abnormally folded proteins.
(2) They have a protein coat.

(3) They consist of low molecular weight RNA.

(4) They are symbiotic associations between algae
and fungi.
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131.

132.

133.

134.

135.

Match the following plant types with their correct
descriptions:

Plant Type
1. Bryophytes a.

Description

Vascular plants with
spore-bearing cones in
some plants
Non-vascular plants with
gametophyte dominant.

2. Pteridophytes b.

3. Gymnosperms c. Seed plants with exposed

ovules, e.g., pine.

Seed plants with
enclosed ovules in fruits

(1) 1—,2-d,3-b,4-a(2) 1-a, 2—, 3-b,4-d

3) 1d,2—,3-a,4-b (4) 1-b, 2—a,3-c, 4-d
Who showed that viruses could be crystallised and
that the crystals consist largely of proteins?

(1) Louis Pasteur  (2) T.O. Diener

(3) W.M. Stanley  (4) Robert Hooke

Which of the following is an example of an
insectivorous plant?

(1) Cuscuta (2) Venus fly trap

(3) Moss (4) Fern

The system of naming plants based on agreed
principles and criteria is known as;

4. Angiosperms  d.

(1) International Code for Genetic Nomenclature

(2) International Code for Botanical
Nomenclature (ICBN)

(3) International Code for Zoological
Nomenclature (ICZN)

(4) International Code for Species Nomenclature

The terms ‘animals’, ‘mammals’, and ‘dogs’

represent taxa at different levels. Which of the

following is true?

(1) ‘Animals’is a genus, ‘mammals’ is a species,
and ‘dogs’ is a kingdom

(2) ‘Animals’is a class, ‘mammals’ is a genus, and
‘dogs’ is a family

(3) ‘Animals’is a species, ‘mammals’is a phylum,
and ‘dogs’ is a kingdom

(4) ‘Animals’ is a kingdom, ‘mammals’ is a class,
and ‘dogs’ is a species
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137.

138.

139.

PART - IV : ZOOLOGY

136. Observe the list of sexually transmitted infections

(STIs)

Gonorrhoea, Syphilis, Genital warts, Genital
herpes, Hepatitis - B, Chlamydiasis, HIV.

How many of them are curable completely if
infected person is detected early and treated
properly?

(1) Four (2) Five

(3) Three (4) Six

Select the incorrect statement from the following

(1) Birth canal is formed by vagina and cervical
canal.

(2) The site of fertilization in oviduet is ampulla.

(3) hCG, hPL and relaxin hormones are produced
in woman only during pregnancy.

(4) Primary follicle contains a fluid filled cavity
called antrum.

Read the following statements

Statement-I: High concentration of LH will cause
ovulation

Statement-11: Menstrual cycle is seen in a lactating
mother upto 6 months

(1) Both Statements I and II are correct

(2) Both Statements I and II are incorrect

(3) Statement I is correct, II is incorrect

(4) Statement I is incorrect, II is correct

Read the given statements stating them true (T) or

false (F) and select the correct option?

A. Tropical Environments unlike temperate ones
are less seasonal, relatively more constant and
predictable

B. Decomposition of detritus is favoured by lignin
and chitin in detritus.

C. For many taxonomic groups species
inventories are more complete in temperate
than in tropical countries

(1) A-T, B-T, C-F

(2) A-F, B-T, C-F

(3) A-T, B-F, C-T

(4) A-T, B-F, C-F
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140.

141.

142.

143.

144.

145.

146.

Find the incorrect statement with respect to uterus

(1) It is an inverted pear shaped structure,
commonly called womb

(2) Perimetrium is the outer membrane which is
thick and muscular.

(3) It opens into vagina through a narrow cervix.

(4) It is attached to the pelvic wall and supported
by ligaments.

Which of the following forms a hormone receptor

complex on cell membrane?

(1) Cortisol (2) Testosterone

(3) Insulin (4) Progesterone

Find the gas which was NOT present in the glass

chamber in Miller's experiment.

(1) CH, (2) NH,

3) O, 4 H,

Sea weeds existed around mya.
(1) 500 (2) 350

(3) 2000 (4) 320

Observe the following pictures.
Organism (a) differs from (b) in having

A’f !~~ — .

-

(a) Scoliodon

(b) catia

(1) Presence of one auricle and one ventricle

(2) Internal fertilisation

(3) Separate sexes

(4) Lack of capacity to regulate body temperature
Choose the correctly matched pair:-

(1) Tendon - Specialised epithelial tissue

(2) Adipose tissue - Dense connective tissue

(3) Areolar tissue - Loose connective tissue

(4) Cartilage - Loose connective tissue

The terga, sterna and pleura of cockroach body are
joined by

(1) Ocellus

(2) Hypopharynx

(3) Arthroidal membrane

(4) Cartilage
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147.

148.

149.

150.

151.

The ciliated columnar epithelium in humans are
known to occur in

(1) Bronchioles and fallopian tubes

(2) Air sac and oesophagus

(3) Fallopian tubes and Air sac

(4) PCT and stomach lining.

Animal in which fertilisation occurs inside the body
of the organism and they lay fertilised eggs covered
by a hard shell?

(1) Felis (2) Rana

(3) Corvus (4) Catla

Embryo of Rohu and alligator have a row of
vestigial gill slits just behind the head but it is a
functional organ only in Rohu not found in
alligator, this Evidence of evolution was proposed
by

(1) Malthus (2) Ernst Haeckel

(3) Charles Darwin (4) Lamarck

Study the following pedigree.

' G
D e o 9

If the pedigree depicts X linked recessive trait, find

the incorrect option w.r.t 11/4 offspring.

(1) If the child is female the chances of her
becoming carrier is 10%

(2) Ifthe child is male the chances of his becoming
affected is 50%

(3) Ifthe child is male the chances of his becoming
normal is 50%

(4) If the child is female the chances of her
becoming affected is 0%

A woman with a normal vision marries a man with

normal vision and gives birth to a colourblind son.

Her husband dies and then marries a colourblind

man.

What is the probability of her new children to have

an abnormality?

(1) 50 % of sons and daughters are colourblind.

(2) All sons colour blind & daughter carrier

(3) All daughter colour blind & sons normal

(4) 50 % sons colour blind & all daughters normal.

147.

148.

149.

150.

151.

A H RIfeamRad S SUSell Hel s Sffl
g7

(1) Fifdied 3R Bl <@

() fo Afardd iR arA=Tel

(3) WA cd 3R argDIel

(4) PCT 3R T &1 MdRd WRa

THT HH—AT SR & s Ay s8R & siex

BT € 3R d HOR Wi F &b MU oS ad 87

(1) Bferg (2) VT

(3) Frae (4) &eer

g 3R TferTer & o1 # RIR & 918 el s
B 2, JfdT I8 Tah drIfeId ST dHael g | U
ST &, Uferiiex ® w8l | a8 faer &1 |y foas

RSEIRIRI

(1) Hreer™ (2) 3FRT B
(3) diefd SIfde (4) o

=T USRN &7 I BN

~orn
D om o <

1 2

Ife Ig USSR X—8o™T UHTA] oI&ToT I g0l
e, Al /4 |a & ded d Terd fddbea g

(1) afe da= #@1€T 8 o S dEd '8 Dl
HHTEAT 10% B |

(2) I FaF TR T, A b JAIfAd 8 @
FHET 50% B |

(3) I Fa9 TR T, O SED AEEG EH DI
HHGT 50% % |

(4) I e AeT §, A SEd uWIfad B9 @
HHATET 0% 2 |

Uch WA GItE dTell Higell &1 Al U A=

gfte arel 4oy | Bkl , fS79¥ U e g Uat

BT 2| B U B GG P I, 98 b M

g%y ¥ fare exall 2

SHD AU gTal § STAHRIAT 819 & TG =T 87

(1) 50% g 3R ghERIt w8 |

(2) ¥ g3 I BRT &R g ared B

(3) 1 gt oty B8R SR g A i |

(4) 50% G [ BT SR T g MR B |
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152.

153.

154.

155.

156.

157.

In which of the following organisms an excretory
system is absent

(1) Pila (2) Antedon

(3) Aplysia (4) Anopheles

Resistance developed by the body against infection
induced by vaccines is on example of

(1) Natural active immunity

(2) Artificial active immunity

(3) Natural passive immunity

(4) Artificial passive immunity

The value of FRC is -
(1) ERV +RV (2) TV+IRV
(3) TV+ERV (4) VC+RV

Identify the INCORRECTLY matched pair.

(1) Fibrins - Formed by the conversion of inactive
fibrinogens in the blood plasma by the enzyme
thrombin.

(2) Cascade process - In coagulation of blood,
thrombokinase complex is formed by a series
of linked enzymic reactions.

(3) Thrombocytes - Release a variety of substances
most of which are involved in the coagulation
or clotting of blood.

(4) Sodium ions - Play a very important role in
blood clotting.

Which of the following is the CORRECT path of

conduction of wave?

(1) SAN — AVN — Bundle of His — Purkinje
fibres — Heart muscles

(2) AVN — SAN — Bundle of His — Purkinje
fibres — Heart muscles

(3) AVN — SAN — Purkinje fibres — Bundle of
His — Heart muscles

(4) SAN — AVN — Purkinje fibres — Bundle of
His — Heart muscles

In the counter current mechanism, small amounts

of urea absorbed by the thin segment of the

ascending limb of Henle's loop, is transported back

to the interstitium by the

(1) Descending limb of vasa recta

(2) Collecting duct

(3) Ascending limb of vasa recta

(4) DCT

152.

153.

154.

155.

156.

157.

FrfoiRad § & fd Siia § Icqoid a3 sruiRerd
27

(1) arger (2) vesrT

(3) g (4) TIfefo

Pl IR gRT ST~ HHHIT YR fbd YR &1

TfORET BT SIERT 87

(1) wrepfcres Afsha gfcrer

(2) S Afha uforem

(3) wefas Ffra uforen

4) o ffsa gforer

FRC &T A BIdT 8—

(1) ERV + RV (2) TV + IRV

(3) TV + ERV (4) VC+ RV

frafaRad & 9 dI9—a1 SIST Told 27

(1) BIEfET — X o H SuRerd ToigH oifra+
g1 fAfpa wrgfedo™ & uRads grT fAfdd

(2) d¥ds UfHIT — g WhHed H ATEIHIZ
Vifed Ps Uolisd Ufafsharet grr fAfda gwar
g

I
(3) i rIsed — fafa= uerif &1 919 wa § S
T B AID OTHM H eI B 2 |
(4) AT JMIT — TH & oUah WA H HAgayo!
AT fm 2|

fa=ferRad § & dIF—1 T8l FaiT AT J1T 87

(1) SAN — AVN — dsd 3% fawg — ufdbol
BISa] — TQU I AU

(2) AVN > SAN — dsd 3% ey — ufdol
BISa] —> §QU I AAUT

(3) AVN — SAN — Ufdhol BI5dd — g A

(4) SAN — AVN — Tfhol Brsad — dd A%

gfomare 93 H, BTl @ SR Yoll & Udel W

ERT AT JRAT fhad gRT a9 SeRefeam

# ggEmn S 2°?

(1) a1 NaST & 3TaARIS! MR

(2) |UTED AflhT

(3) 9T XaET B RIS |1

(4) SR gUsferd (DCT)
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158. Sacromere is the functional unit of contraction in a | 158. HHMRR UL dg & H@Ha Bl HRTHD SHIS o,
muscle fibre. Identify the portion of myofibril that Uell dg @ SH WM DI U [ORIH AHHERR

constitutes a sarcomere IuRerg 28—

(1) The portion of myofibril between two (1) T AR 'A' §€ & /&1 AT
successive 'A' bands

(2) The portion of myofibril between two (2) T AR 'Z' TS & §1F BT AT
successive 'Z' lines

(3) The portion of myofibril between two (3) 3 AR 'M' gl & drd &I 9T
successive 'M' lines

(4) The portion of myofibril between the two (4) QT AMAR T d€ & 9F BT 9T
successive 'I' bands.

159. Identify the INCORRECTLY labelled part in 159. f=feRad # | SH—W1 ITd 91T 87
Frontal bone Frontal bone

Temporal bone Temporal bone
Zygomatic bone Zygomatic bone
Occipital bone Occipital bone
(1) Frontal bone (1) wed 3R
(2) Temporal bone (2) SHIRS 3rfRer
(3) Zygomatic bone (3) oTTE? Hfedw arRer
(4) Ocipital bone (4) siffesafaee rRer

160. Assertion: Transmission of an impulse across N R oY _ _
electrical synapses is similar to impulse conducted | 160. PT: Tded RITX AT AEROT e B A

along an axon. BT © |
Reason: Electrical synapses are mostly found in SR fagd RI®T gAR IRIR ¥ 31feres g it € |
our body.
(1) Both assertion and reason are true and reason is (1) =l P2 Wel § SR RO, AT DI AL
the correct explanation of assertion. AR T |
(2) Both assertion and reason are true but reason is (2) TET U e 8, oI BRU HAF B Tl
not the correct explanation of assertion. T T8 B
(3) Assertion is true but reason is false. (3) HUT el §, odfd] BRI Tad 2 |
(4) Both assertion and reason are false. (4) T HUF TeAd & |
161. Which of the following protein product has been | 161. FF=fIRaT & A DT W SUTE THIHA B
used to treat emphysema? garSl Tg<h Bl o
(1) alpha - lactalbumin (1) 3fHI—clacTeg A
(2) TPA (2) TPA _
(3) alpha-1-antitrypsin (3) srewT—1-vifefea
(4) C-Peptide (4) C—U<rss _
162. The molecular marker is/are - 162. HIClIGeR DX &/ G
(1) SSR (2) RFLP (1) SSR (2) RFLP
(3) RAPD (4) All of the above (3) RAPD (4) STRIFT A
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163. Observe the ecological pyramids I & II and choose
the correct statement.

164.

165.

sc
PC . PC
I i

(1) 'T depicts the pyramid of Biomass in terrestrial

ecosystem

(2) 'IT" depicts the pyramid of numbers in aquatic

ecosystem

(3) SC stands for herbivores
(4) None of them depict the pyramid of energy in

any ecosystem

Match the columns I and II and choose the correct
combination from the options given.

o0w»

Column I Column II

Lion I.  Primary producer

Earthworm II. Primary consumer
Zooplankton II1. Detritivore

. Phytoplankton IV. Tertiary consumer

(l)A ILB-1V,C-1,D-1
2) A-LB-I,C-1V,D- 111
(3) A-1IV,B-1II,C-1II,D - I
(4) A-1IV,B-1,C-1I, D - III
Read the following statements

a.
b.

€.

P-wave not found in ECG.

In muscle the thin filaments in the 'A' band are
also held together in the middle by an elastic
fibre called 'Z' line.

A pair of spermathecae is present in the 6th
segment of female cockroach which opens into
genital chamber.

The epididymis leads to vas deferens that only
descends to the abdomen and loops over
urinary bladder.

Male frog has bidder canal.

(1) All statements are correct
(2) a, b, and d are correct

(3) a, c and d are correct

(4) cand e are correct

163. fr=ifoRea wRRerfds Rifet vem qor fgd @
o 3R el AT Y |

164.

165.

e

(1) 'I'?Wqﬁuﬁtﬁaaﬁéawfﬁ?ﬁezﬁ

T B |

(2) 'II' STeira giRRerfaa d= # A &1 fiRifis

gorfaT B

(3) SC MHIENT BT ST 2 |
(4) 38 A ®ig A1 fxdr ft wiRRerfara &3 # ot

& RIS &1 81 <wiar © |
DI 1TAT 11 1 AT Y a1 Ay 1y e
AL Dl G-
Dl 1 ®ied 11
A. IR I weIfes IdEd
B. &3l 1L Srffies SUwIh
C. umiiidsd I11. 3OREERI
D. Ureyw<iad IV. qeldd IuHTHI

(1) A-TILB-IV,C -1, D -1
(2) A-1,B-1II, C-1V, D -III
(3) A-1V,B-1L, C-1I, D-1I
4) A-1V,B-1,C-1I,D - III
el AT G-

a.
b.

€.

ECG % P—a%T T8I U=y Wreil € |

AURET A I8 H IuRd udel dgaell &
U el g 'Z' @l §RT A& H Ueh A1 @]
S

HIGT feaee & 6d W8 H U&h Sirel wHTaT
B © Sl o ®& H Gerdl & |

RGYOT Yehargsd Afetebl DI AR ST & S
I S&X H IIRBR FARM & HUR U ]
=

R Hod ¥ dlex Aferdl IR S 2 |

(1) o B9 FL § |
(2) a,b 3R d TE |
(3) a,c 3R d FL E |
(4) ®ad ¢ AR e T B |
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166.

167.

168.

169.

Match the columns I and II, and choose the correct
combination from the options given below

Column II
(Region)

Column I
(No. of birds species)
A. 105 L
B. 1200

Amazon rain forest

II. Greenland

C. 56 III. India

D. 1300 IV. New York

() A-ILB-1V,C-1II,D -1

2) A-TIV,B-1II,C-1I,D -1

3) A-ILB-ILC-1V,D-1

4) A-II,B-I,C-1V,D-1I

On a logarithmic scale, the species - area
relationship in described by the equation.

(1) log S=log C+Z log B

(2) log S =log C+Z log A

(3) log S=1log Z+C log B

(4) log S =log B+Z log C

Biodiversity  is ‘highest in insects among
invertebrates. Find the characteristic feature which
is mainly responsible for it-

(1) Bilateral symmetry
(2) Compound eyes

(3) Uricotelic nature

(4) Chitinous exoskeleton

Which “of the following represents
combination without any exception.

correct

Characteristics Phylum/class

Strictly marine,

radial symmetry Cnidaria

(1

Three chambered
heart, limbs for
locomotion

2) Amphibia

Pinnae, mammary

. Mammalia
glands, viviparous

3)

Aves

4

Feathers, oviparity

166.

167.

168.

169.

frfeRaa &1 w8 e o

diaq 1 diaq 11
(weft yomfo=n @Y Hemn) (@)
A. 105 L oWoH quiad
B. 1200 I Meis
C. 56 III. ¥Rd
D. 1300 V. =pai®

(1) A-ILB-1V,C-1ILD-1
(2) A-1IV,B-TI,C-1,D-1
(3) A-ILB-1IL C-1V,D-1
(4) A-IILB-1,C-1V,D-1I

TGV U IR ySiodi—&d Heg @l fh|
HH“ICJ’NUI gINT Ci‘\’liéll STTdI %\r?

(1) @7 S = @1 C+Z @ B

(2) @ITS =@RT C+Z G@IT A

(3) TS =T Z+C &1 B

(4) Q@RT S = & B+Z @i C

PIcl | I fafderdr sraperefaal & d<d H SoadH
w 2?9 # gEa BF |1 9 g6 o
RHER 8-

(1) fgured wafafa

(2) §ID T

(3) IRPeferd TPfy

(4) BISiCad 9180 Bl

ffaRaa @ e daroE a1 faxft smare «

GER
Characteristics Phylum/class
DI <IN

(1) &S‘i@, frsRan
SIREGZAIR

O | qaemm | O
=11, %=1 wft

' ' Haferar
O | o
(4) | UG, 3ves i)
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170.

171.

172.

173.

174.

Find the incorrect statement from the following.

(1) Whale has two circulatory pathways.

(2) Heart of fish is often called venous heart

(3) Cnidarians have extracellular & intracellular
digestion

(4) In sponges water vascular system helps in food
gathering and respiratory exchange.

The body which is cylindrical and composed of

anterior proboscis and a collar and a long trunk is

found in which of the following organisms?

(1) Ascidia

(2) Salpa

(3) Doliolum

(4) Saccoglossus

Find the correct pathway of stages of Plasmodium

in its primary host.

(1) Gut - Haemocoel - salivary glands

(2) Blood - liver - RBCs of blood

(3) Blood - lungs - oesophagus

(4) Pharynx - stomach - RBC

Find the incorrect statement from the following.

(1) HIV targets helper T-Lymphocytes of man

(2) Interferons are anti-viral proteins

(3) By eradicating mosquitoes,
Amoebiasis can be checked

spread of

(4) Damage to thymus in a child affects cell
mediated immunity.

Which of the following is incorrect about pituitary?

(1) Located in bony cavity called sela tursica.

(2) Attached to hypothalamus by stalk called
infundibulum

(3) Divided anatomically into adenohypophysis
and neurohypophysis.

(4) Secretes all releasing and inhibitory hormones.

170.

171.

172.

173.

174.

fa=forRad § | SH—T1 Tad HUF 87

(1) @ # 31 aRH=RT 79 81 § |

(2) Bl BT g AHAR TR AT S DHET STl
=

3) oo~ # 9@ @R R ndke
BITHY yrad g1 B € |

(4) ST H ST Fag 3 HIor GUg iR vavH
H Aeg PRar 2|

THT BT 19 & RTadT IR JeMeR 8T &

3R THH TH SWU—UEINRN, UH HleR 3R UH ofdl

g$ BT 87

(1) vRitsar

(2) wreqr

(3) Sifergier

(4) HAPDITeTrTT

IHISTH B URIAG UNd # e & axoll &l

&l HH BT B°

(1) 31| - AN - IR TRt

(2) I - AP - TH & RBC

(3) T - BB - Tl

(4) TEAT - AR - RBC

f=ferRad § | ST BUF TAd 27

(1) T@MSAI HIV A4 H 8o T—forvhRIged &l
RIS HRaT B |

(2) SSXBRIA UEI—ariRel WeH 2 |

(3) HEBRI DI IVAT DD JAMNSATRIE D TR DI
RABT ST bl 2 |

(4) 950 H O Bl gHAM  Ugad 9
DIFRTHT—TeIReT TfeReT FTfad =il 2 |

9y U & IR H BT BT TAd 57

(1) T Ta iRl T[T f7 AereRiaT wer i g,
# Rera 2l 21

(2) ¥8 TRURME ¥ U qg O sThSged
FEd ©, §RI JSI 81l © |

(3) I8 YNNG I W TSARERUGRN iR
PRIETSNGRE # o g 2 |

(4) I 91 RefifSiT iR gafefeed smiA wrfaa
Pl B
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175.

176.

177.

178.

179.

180.

Find the correct statement from the following.

(1) Over secretion of GH in children leads to
Acromegaly.

(2) The site of synthesis and the site of storage are
different for ADH

(3) Leydig cells of testes are stimulated by FSH

(4) Insulin stimulates glycogenolysis.

Complete the following analogy with respect to the

opening in to heart chambers.

Vena cava : Right atrium : :

(1) Pulmonary artery

(2) Aorta

(3) Pulmonary vein

(4) Coronary artery

Which of the following are known as Emergency
hormones?

: Left atrium.

(1) MSH (2) Catecholamines
(3) FSH (49) LH
ANF is -

(1) Peptide hormone

(2) Releases from Atria

(3) Similar to Aldosterone in function

(4) Both (1) & (2) are correct

Heavy meromyosin and light meromyosin of
Myosin filament respectively are

(1) Globular head with short arm and tail

(2) Short arm and ATP binding site

(3) Tail and globular head

(4) ATP binding site and Actin binding site
Basing on the number, arrange the vertebrae in the
correct ascending order in human embryo.

(1) Cervical, Thoracic, Lumbar, Coccygeal

(2) Coccygeal, Lumbar, Cervical, Thoracic

(3) Thoracic, Lumbar, Cervical, Sacral

(4) Sacral, Coccygeal, Cervical, Thoracic

175.

176.

177.

178.

179.

180.

faforRea 5 9 981 d g

(1) g=ai 4 gfg HA (GH) &1 JAbd ud
UhIHITAl BT HROT §7elT B |

(2) ADH &T H¥YUT 3R HEROT STl T—3Te T 41
W BT 2

(3) g1 F afeT dnll?lcbl( FSH gRT URq &rcft €|

(4) Sgford TengdIoHIfe H Salfd Bear 2 |

gaﬂasﬁﬁqgaﬁa%wfﬁﬁqumaﬁ
T P

é?ﬂ AT qrr emfelg
(1) BIREHE gaff
(2) HEEHEA

(3) rEH R

(4) DRI €HA
forforRaa # & dI9—0 8M “SMUTddTel g4
@ ™Y H 9 S 87

11 ) | F

(1) MSH (2) DHIATHR
(3) FSH (4) LH

ANF &—

(1) UTCIgS gMiA

(2) siferar & Mdaar &

(3) VeSRCRH & A B HRal &

(4) S (1) 3R (2) W& &

AR fhamic & 9 REEIRE iR g
REARIRA  HH: DIH— 9N B 87

(1) TAgeR R 3IR BICI o1 deIm 4B

(2) BT ol IR ATP—deIdh ¥efel

(3) UYB 3R AR R

(4) ATP —§&9 I 3R Ufded dud Jerd

A YT H HAGHIS] D Gl & AR W Fal
JRTET HH RAT BITT?

(1) rar, gefi, ®fc, digdorad

(2) BIGAINTI, Bie, ddr, 9ei

(3) @ef, ®fe, dar, BariRer

(4) DRy, diedifoige, War, aefg
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V"3 (D) NARAYANA | JAPUR

BRI R (N nT-JEE/NEET/FOUNDATION | CENTER

NARAYANA JAIPUR STUDENTS DOMINATE IN 2025

Join the Proven System of NARAYANA JAIPUR CENTER for
JEE (Main+Adv) | NEET | Foundation

Powered with Top Level Mentorship & Genius Faculties

Narayana Jaipur STARS OF 2025 So Far (..many More Coming)

JEE (Main) 2025 session-| 2 International Olympiad (St-11) 2025

CTY TOPPER  2nd CITY TOPPER

JAIPUR JAIPUR
&RAJL STATE TOPPER

100 99.99

Percentile Percentile

Selections for Stage-3
Orientation Cum
Selection Camp (OCSC)

Indian National Olympiad (INO) 2025 Qualified

As per result declared by HBCSE & Nehru Science Center, NCSM on 05-03-2025

Selected T3

GOLD MEDAL for India
in IJSO'2024 Selected

in INDIA'S

Selected
in INDIAs
International Junior Science Olympiad-2024,
Held at Bucharest ROMANIA (2 to 12-Dec., 2024)

BHAVYAA GUNWAL

Yearlong Classroom Student (CO-SPARK Batch)

AYUSH SINGHAL
MPS

Regular Classroom

Srilal Convent Jayshree Periwal G.S. Cambridge Court

A 1.1_.

N %) L

il A ezl QN
L SPARSH GUPTA .. LAVADHHINDOCHAJ L MRIGANK GOEL J L TANISHAK YADAV ] LSHASHANKSHARMAI I_SAMSHREYASJOSEPHJ

Further AlRs in Top 1000 : 116 (Prabuddha Sinha), 149 (Visharad Srivastava), 161(Mayukh Chowdhury), Further AlRs in Top 1000 : 181(Atishay Jain), 316 (Krish Jain), 340 (Somya Garg),
168 (Abubakar Siddique), 303 (Shrey Nayakpara), 318 (Srutarshi Tripathi), 339 (Yash Vashisht), 354 (Aradhana R), 350 (Dhruv Awasthy), 380 (Akshat Mishra), 562 (Ashvin Sharma), 606 (Purvika Singh),
360 (Kathan Shah), 375 (Pratham Srivastava), 384 (Tushar), 448 (Vivaan Goswami), 543 (Shaurya Pratap), j 616 (Shreya Jain), 666 (Surya Charan D), 681(Tanmay Singhal), 786 (Amogh), 966 (Chhavi Jain)
569 (Akshat Khandelwal), 591 (Shourya Agarwal), 809 (Sagarika Sinha), 881 (Ishwin Kumar), 973 (Muthu S)  «. (A|| Scored 700+)

N
(* All these are Narayana Jaipur Center’s InfinlITy SRG batch students Q (* All these are Narayana Jaipur Center’s Regular Classroom students of RT-720 Course
who attended online night classes by top faculties to boost rank in JEE (Adv) 2024) (Nov'23 to May’24) for NEET 2024)

This very first student group result has proven the power of Top Level Mentorship, Genius Faculties and Excellent System at Narayana Jaipur Center

For any enquiry or assistance, call 0141-4848000

€ www.narayanajaipur.com &} ntsc.narayanatalent.com (XX jaipur@narayanagroup.com SUNDAY OPEN




BATCH STARTING DATES

Moving to Class 6,7,8,9& 10
Starting: 02 & 09-Apr, 2025

Moving to Class 11" (JEE/NEET)
Starting: 26-Mar & 02-Apr, 2025

Moving to Class 12" (JEE/NEET)
Starting: 19-Mar, 2025

Appeared-in/Passed Class 12 (NEET)

Starting: 09 & 16-Apr, 2025
120t Ut f&<t aream NEET s geres o=t 11-Jun@

Appeared-in/Passed Class 12 (JEE)
Starting: 23-Apr & 07-May, 2025
* Separate Batches for JEE & NEET as per New Education Policy (NEP)



